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UNIVERSITY OF NORTH BENGAL 

B.Com. Programme 4th Semester Examination, 2020  

DSC7-COMMERCE 

COST ACCOUNTING 

Time Allotted: 3 Hours Full Marks: 60 

ASSIGNMENT 

The figures in the margin indicate full marks. 

 Answer any three questions 20×3 = 60

 fdUgha rhu iz”uksa dk mÙkj nhft;s 

 িনmিলিখত �য-�কােনা িতনিট  pেűর উtর দাও 

 dquS rhu iz”udk mÙkj fnuqgksl~ 

1.  (a) “Cost may be classified in a variety of ways according to their nature and the 
information needs of management”. Explain and discuss this statement giving 
examples of classifications required for different purposes. 

10+10

 “Cost may be classified in a variety of ways according to their nature and the 
information needs of management” bl dFku dk fofÒé mnkgj.k lfgr foÒktu ds 
fofÒé vko”;drk dk mÌs”; dh O;k[;k dhft;sA 

 ‘‘ব°য়েক তােদর pkিত এবং পিরচালনার তেথ°র pেয়াজন অনসুাের িবিভn উপােয় েËিণবd করা েযেত 
পাের।’’ িবিভn উেdেশ° pেয়াজনীয় েËিণবdতার উদাহরণ িদেয় এই িববৃিতিট ব°াখ°া কেরা এবং 
আেলাচনা কেরা। 

 ^O;;dks izÑfr ,oa ifjpkyu rF;dks iz;kstu vuqlkj fofÒé mik;ys foÒktu xuZ 
lfdUNA* ;l mfädk fofÒé mnkgj.k lfgr foÒktu dk fofÒé vko”;drkdk 
mÌs”;g:dks O;k[;k xuqZgksl~A 

(b) Write a detailed critical note on ‘Base Stock Method’ of material pricing and 
valuation. 

 miknu fu/kkj.kZ ,¡o ewY;ku ds ‘Base Stock Method’ lEoO/kh vkykspuk dhft;sA 

 উপাদান িনধর্ারণ ও মলূ°ায়েনর ‘েবস sক পdিত’ সmিকর্ত একিট িবশদ সমােলাচনা েনাট েলেখা। 

 miknku fu/kkZju j ewY;kudks ^osl LVd i)fr lEcU/kh* vkykspuk xuqZgksl~A 

  

2.  (a) It is said “Cost accounting is a system of foresight and not a post-mortem 
examination, it turns losses into profits, speeds up activities and eliminates 
wastes”. Discuss this statement. 
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 “Cost accounting is a system of foresight and not a post-mortem examination, it 
turns losses into profits, speeds up activities and eliminates wastes” bl dFku dks 
leh{kk dhft;sA 

 বলা হয় েয ‘‘কs অ°াকাউিnং হেc দূরদর্িশতার ব°বsা এবং ময়না তদn নয়, এিট kিতর মুনাফায় 
পিরণত কের, িkয়াকলাপেক গিত েদয় এবং বজর্° অপসারণ কের’’। এই িববৃিত আেলাচনা কেরা। 

 ,mVk dFku N ^dLV ,dkmfUV³ gks nwjnf”kZrk O;oLFkk ,oa ijorhZ ijh{k.k gksbu] ;lys 
gkuhykbZ equkQkek ifj.kr xbZ] dk;Zokghek xfr”khyrk iznku xbZ vfu okfg;kr~ dqjkdks 
fujkdj.k xbZA* leh{kk xuqZgksl~A 

(b) “Cost Accounting is becoming more and more relevant in the emerging economic 
scenario in India”. Comment. 

 “Cost Accounting is becoming more and more relevant in the emerging economic 
scenario in India” bl dFku ds ckjs es viuk eUrO; O;Dr dhft;sA 

 ‘‘ভারেত উদীয়মান অথর্ৈনিতক পিরিsিতেত কs অ°াকাউিnং আরও েবিশ pাসিñক হেয় উঠেছ’’। 
মnব° কেরা। 

 ^^Òkjrdks fodklksUeq[k vFkZuhfrek dLV ,dkmfUV³ ek> c<+h izklfगd Ò,dks nsf[kUNA** 
vkIuks eUrO; O;ä xuqZgksl~A 

  

3.  (a) “There is generally a divergence between financial profits and cost profits”. 
Explain this statement and give reasons for such divergence. 

10+10

 “There is generally a divergence between financial profits and cost profits” bl 
dFku dh iqf’V dhft;s ,¡o ,slk foÒsn dh leh{kk dhft;sA 

 ‘‘আিথর্ক লাভ এবং ব°য় মুনাফার মেধ° সাধারণত একিট িবেভদ রেয়েছ’’। এই িববৃিতিট ব°াখ°া কেরা 
এবং জাতীয় �বিচেtর কারণ দাও। 

 ^^vkfFkZd ykÒ ,oa O;; equkQkdks Òä lkekU;r% ,d foÒsn jgUNA** ;l eukbdks iqf’V 
xuqZgksl~A 

(b) “Reconciliation of cost and financial accounts in the modern computer age is 
redundant”. Comment. 

 “Reconciliation of Cost and Financial Accounts in the modern computer age is 
redundant” bl dFku dh leh{kk dhft;sA 

 ‘‘আধুিনক কিmউটার যুেগ ব°য় এবং আিথর্ক অ°াকাউngিলর পুনিমর্লন অpেয়াজনীয়’’। মnব° কেরা। 

 ^^vk/kqfud dEiqVj ;qxek O;; ,oa vkfFkZd ,dkmfUV³dks iqufeZyu vuko”;d NA** 
vkIuks /kkj.k O;ä xuqZgksl~A 

  

4. A transport company has been assigned a route of 20 km. long to run a bus. The 
bus costs the company a sum of `50,000. It has been insured at 3% p.a. and the 
annual tax amounted to `1,000. Garage rent is `100 p.m. Actual repairs stood at 
`1,000 and the bus is likely to last for 5 years. The driver’s salary amounted to 
`150 p.m. and the conductor’s salary stood at `100 p.m. in addition to 10% of the 
takings as commission (to be shared by the driver and the conductor equally). 
Cost of stationery is `50 p.m. Manager-cum-accountant’s salary amounted to 
`350 p.m. 

20
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The cost of petrol and oil is `25 per 100 km. The bus is expected to make 3 round 
trips carrying on the average 40 passengers on each trip. Assuming 15% profit on 
takings, calculate the bus fare to be charged from each passenger. The bus is 
expected to run on an average 25 days in a month. 

 একিট পিরবহন সংsােক 20 িকেলািমটার পথ িনধর্ারণ করা হেয়েছ। একিট বাস চালােনার জন° দীঘর্। 
বাসিট েকাmািনর জন° `50,000 খরচ কের। এিট 3% p.a এ বীমা করা হেয়েছ এবং বািষর্ক কেরর 
পিরমাণ িছল `1000, গ°ােরেজর ভাড়া `100 p.m. pkত েমরামত দাঁড়ায় `1000 এবং বাসিট দীঘর্ 5 
বছর ধের চলার সmাবনা রেয়েছ। »াইভােরর েবতেনর পিরমাণ `150 িপএম এবং কnাkেরর েবতন 
দাঁড়ায় `100 িপএম। কিমশন িহসােব 10% অেথর্র পাশাপািশ (»াইভার এবং কnাkর সমানভােব ভাগ 
কের েনওয়া)। েsশনািরিটর দাম `50 িপএম। পিরচালক-কাম-অ°াকাউেnেnর েবতন `350 িপএম। 
েপে¹াল এবং েতেলর দাম 100 িকেলািমটাের `25। বাসিট pিতিট Çমেণ গেড় 40 জন যাtী িনেয় 3 
রাউn ি¹প করেব বেল আশা করা হেc। টাকা েনওয়ার েkেt 15% মুনাফা ধের েনওয়া, pিতিট যাtীর 
কাছ েথেক েনওয়া বাস ভাড়া গণনা কেরা। একমােস বাস গেড় 25 িদন চািলত হেব বেল আশা করা 
হেc। 

  
5.  (a) Explain the basic principles to be followed in determining the amount of profit on 

uncompleted contracts. 
10+10

 Uncompleted contracts es ykÒ dk fu/kkZj.k ds fofÒé rjhdk ds ckjs es O;k[;k 
dhft;sA 

 অসmূণর্ cিkেত লােভর পিরমাণ িনধর্ারেণর জন° অনুসরণ করা মূল নীিতgিল ব°াখ°া কেরা । 

 vle; iw.kZ lE>kSrkek ykÒdk fu/kkZj.kdks fufEr vuqlj.k xuZiusZ ewy uhfrg: dks 
O;k[;k xuqZgksl~A 

(b) Explain the concept of Escalation clause, retention money and notional profit. 
 Escalation clause, retention Money vkSj Notional Profit &bu lksj dFku dh 

O;k[;k dhft;sA 

 বধর্েনর ধারা, ধারেণর অথর্ এবং ধারণা মুনাফার ধারণিট ব°াখ°া কেরা। 

 of)rkZ;u /kkjk] /kkj.kkdks vFkZ rFkk /kkj.kk equkQkdks /kkj.kk O;k[;k xuqZgksl~A 

 
——×—— 

 


